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Q.1 Assertion (A) : Before starting teaching of a new concept, a teacher should review

prerequisite knowledge. This will help students bring to mind the information they will
need to understand new concept.

Reason(R) : Corporal punishment should not be practiced as a strategy to rectify the
undesirable behavior of learners.
Choose the correct option.
Options 1. Both (A ) and (R) are false.
2. Both (A) and (R) are true but (R ) is not the correct explanation of (A).
3. Both (A) and (R) are true and ( R) is the correct explanation of (A).
4. (A) is true but ( R) is false.

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q2 Sexis______ whilegenderis
Options 1. social; cultural

2. biological, socially constructed

3. cultural; social

4. socially constructed; biological

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.3 At which stage of Lawrence Kohlberg’s moral development theory do individuals believe
that society needs to update the rules over time?

Options 1. Good boy-good girl orientation

2. Social —contract orientation

3. Social-order maintaining orientation

4. Obedience and Punishment Orientation

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.4 Which of the following set of attributions for failure on a task is likely to motivate a student
for future attempts?

Options 1. | didn't put enough effort this time although | am capable of doing so.
2. This particular exam falls on Tuesday and Tuesday is my unlucky day.
3. I'am not intelligent and intelligence is fixed.
4. Teacher was biased towards me and | can’t change her perception about me.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.5 Dyscalculia is primarily associate with difficulty in:
Options 1. communications skills
2. performing mathematical calculations
3. critical thinking
4. reading the text

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.6 A teacher intends to facilitate procedural knowledge among her students. Which of the
following question is appropriate for this purpose?

Options 1. Who wrote Indian National Anthem?

2. Which planet is closest to the sun?

3. What are the components and structure of DNA?
4. How to solve an oxidation-reduction equation?

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.7 Jean Piaget and Lev Vygotksy have shifted the understanding of learning as a
ceessessessssssessassessessesss PFOCESS 10 @ wcuceucerceestinesdeneee... PrOCESS,

Options 1. mechanical, behavioristic
2. active, passive
3. passive, active
4. behavioristic, mechanical

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.8 Which of the following practice will hinder the successful inclusion of students with
speech the language disorders?

Options 1. Discourage the use of visuals to support expressive language skills.
2. Use of pre-planning strategies for oral and written tasks.

3. Break tasks and assignments to short, easy-to-manage steps.

4. Reduce auditory and visual distractions in the classroom.

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.9 To ensure retention of students from socio-economically disadvantaged groups, National
Education Policy 2020 proposes the curriculum and pedagogy should be

Options 1. standard and uniform
2. centered around exams
3. centered around textbooks

4. engaging and contextual

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.10 ........... Fepresents a specific time when children are particularly susceptible to

certaln k|nds of stimuli in their environment.
Options 1. Plasticity duration

2. Sensitive periods

3. Mental stagnation

4. Explicit periods

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.11 Assertion (A) : Comparisons among children can very accurately assess a child's
developmental progress

Reason (R) : The pattern and sequence of development as well as the rates of
development are the same, for all children universally
Choose the correct option.
Options 1. Both (A) and (R ) are true and ( R) is the correct explanation of (A).
2. Both (A) and (R) are true but ( R) is not the correct explanation of (A).
3. Both (A) and (R) are false.
4. (A)is true but (R) is false.

Question Type : MCQ
Status : Answered
Chosen Option: 3
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.15 Any pedagogy which considers subject-matter as an end in itself is likely to yield
among students.

Options 1. appreciation for mastery
2. resistance to explore

3. desire for innovation

4. motivation to learn

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16 Secondary socialisation maps the period in when the child begins to attend
formal institutions such as the school.

Options 1. early childhood
2. infancy

3. adolescence

4. middle childhood

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.17 Which of the following is an example of a meta-cognitive skills?

Options 1. Evaluating process used by oneself in solving a problem.

2. Identifying the difference between two pictures.
3. Recalling the chronological order of a particular dynasty.
4. Knowing the chemical formula of Methane.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.18 Inclusive education helps in meeting the needs of:

Options 1. students with giftedness only

2. students from religious minorities only
3. students with disabilities only
4. each and every student

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.19

Which of the following statement is NOT correct in context of misconceptions formed by
students?

Options 1. Misconceptions can be used constructively by a teacher in the process of learning.

2. Misconceptions characterizes the initial phase of children’s understanding of certain
concepts.

3. Misconceptions clearly indicates children’s inability to learn anything new and advanced.

4. Misconceptions represents children’s intuitions about the processes they observe around
them.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.20

Which of the following is a correctly matched pair of the type of intelligence and the end
state possibilities as per theory of Howard Gardner?

Options 1. Intelligence: Logico-mathematical; End State Possibility: Account

2. Intelligence: Linguistic; End State Possibility: Navigator
3. Intelligence: Spatial; End State Possibility: Athlete
4. Intelligence: Inter-personal; End State Possibility: Dancer

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.21

Assertion(A) : Students should be taught self-regulatory knowledge about when, where
and why to use variations learning strategies.

Reason (R) : A learning strategy is more likely to be maintained and employed if students
know when, where and why to use it.

Options 1. Both (A) and (R ) are true and ( R ) is the correct explanation of (A).

2. (A) is true but ( R) is false.
3. Both (A) and (R) are false.
4. Both (A) and (R) are true but ( R) is not the correct explanation of ( A).

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q.22 In which stage can children work with hypothetical statements and explore logical
relationships between statements and have the ability to cope with abstractions such as
proportions?

Options 1. Pre-operational Stage
2. Formal Operational Stage
3. Concrete Operational Stage
4. Sensori-motor Stage

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.23 Which of the following has been promoted by Right of persons with disabilities Act (2016)?
Options 1. Discrimination in assessing entitlements based on disabilities.
2. Denial of Right to Education for persons with disabilities.
3. Compulsory special education for persons with disabilities.
4. Equality and non-discrimination in all spheres of life.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 According to National Education Policy 2020, the progress card of the students
communicated to the parents would be-

Options 1. a reflection of relative performance of students in comparison to classmates
2. based on criteria reference testing
3. a reflection of the progress as well as the uniqueness of the student
4. based on norm-referenced testing

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.25 Which of the following is a critique of Jean Piaget'’s theory of cognitive development?
Options 1. Development of children is dependent on their socio-cultural context.
2. Children’s thinking is qualitatively different from that of adults.
3. Development of children takes place by their acting upon the environment.
4. Children are active beings.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.26 A teacher asked a student to speak his thoughts to himself when he was somewhat stuck
in solving a given problem. Soon enough after doing so, students exclaims ‘l know the
answer now!!" Which problem-solving strategy has helped the student in this case?

Options 1. Response set
2. Verbalization
3. Functional fixedness
4. Mnemonics

Question Type : MCQ
Status : Answered
Chosen Option : 4
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2. (1), (iii), (iv)
3. (ii), (iii), (iv)
4. (iii), (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.28 In order to cater to the needs of students with giftedness, a teacher should avoid:
Options 1. implementing a uni-dimensional curriculum.
2. considering flexibility for curriculum acceleration.
3. allowing students to pursue independent projects.
4. providing stimulating enrichment activities.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.29 Which of the following emotion positively impact learning?
Options 1. Boredom
2. Hope
3. Fear
4. Anxiety

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 In a child-centered education, the teacher —
Options 1. gives direction while the learners follow blindly
2. understands the child and the process of learning in a socio-constructivist manner
3. sets a rigid and standard curriculum
4. uses assessment to rank the students

Question Type : MCQ
Status : Answered
Chosen Option : 2

Section : Mathematics and Science




Q.1 Which of the following best explains the concept of cognitive validity of a science curriculum
Options 1. Focus on hands — on activities in curriculum
2. Focus on confinuous assessment

3. Respect for constitutional value in curriculum

4. Age — appropriateness of curricular materials

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q@2 Choose the incorrect statement about xylem.

Options 1 Transpiration produces suction pull in it.

2. Tt is a tissue.

3. It transports ford and nutrient from leaves to other ports.

4. It is a pipe — like vessel.

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.3 Which of the following is the best description of ideas of value based mathematics education?
Options 1. \Jathematics education cannot be value free

2. Mathematics education is the most valuable
3.

Value based mathematics education acknowledges and incorporates social, cultural and political values in teaching
learning processes

4.
In mathematics examination, asking a value based question in the end develops moral values in students

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.4  An object of mass 200 kg is sliding on a smooth horizontal frictionless surface with a constant velocity of Sm/s. The
force required to keep the object moving with the same velocity is

Options 1. 1 00 newtons
2. Zero
3. 10000 newtons
4. 1000 newtons

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.5  When human beings inhale oxygen during respiration, which of the following movement movements does NOT
takeplace?

Options 1 The air is drawn in through the nostrils

2. Ribs move out
3. Diaphragm moves up

4. Lungs expand

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.6  Incomplete combustion of fuels produces a gas which is poisonous and reduces the oxygen carrying capacity of the
blood. This gas is

Options ;- Njtrogen oxide
2. Sulphur dioxide

3. Carbon dioxide

4. Carbon monoxide

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.7  Acteacher gives the example of flow of water from high pressure in a water tank to low pressure to explain the concept
of potential difference to her students. Which pedagogic device is she using?

Options ¢ - 5rgumentation
2. analogy
3. open — ended questioning

4. real artefact

Question Type : MCQ
Status : Answered
Chosen Option : 4

R ? and y = _:3 cthen (x —y) '+ (x "t —y ) Lisequal to
Options1 7
6
2. -2
5
3. =
12
4 —8

Question Type : MCQ
Status : Answered
Chosen Option: 3




9 If5x—6 (x + i) = %(x + 1), then what is the value of (5x + 6)?

Options 1 7
2. 4
3. 3
4. 5

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.10 Consider the following statements about arteries
A. Arteries are the blood vessels which carry oxygen rich blood from the heart to all parts of the body at a high
pressure
B. To ensure that the blood flows only from the heart to other body parts, the arteries have valves
C. The walls of the arteries are comparatively thin

The correct statement is/are
Options | O]]l},? B

2 Aand B

3 AandC

4. Only A

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.11  Which of the following teaching learning resources in mathematics eannot be used for visually challenged students?

Options 1 - Geo-gebra

2. Geoboard
3. Taylor’s abacus

4. Tangram

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.12 Which of the following involves generalization from numbers and computation with the use of meaningful symbols?

options 1 - Gtatistical thinking
2. Numerical thinking
3. Geometric thinking
4. Algebraic thinking

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.13  Select from the following. a metal which reacts with dil. HSO, but does not react with dil HCL even on heating.
Options 1 - \fagnesium
2. Calcium
3. Copper

4. Tron

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.14 Read the following paragraph
In 1822, a man named Alexis St. Martin was badly hit by a shot — gun. The bullet had seriously damaged the chest wall
and made a hole in his stomach. He was brought to an American army doctor William Beaumont who saved the patient
but could not close the hole properly and left it bandaged. He used this as opportunity to see the inside of the stomach to
some gain an understanding about the process of digestion?
Which of the following understanding (s) about development of scientific knowledge is conveyed in this paragraph

A. Science proceeds systematically according to pre-determined steps
B. Science requires careful observation and creative response to situations

Options 1. Nejther A nor B
2. Only A
3. A&B
4 Only B

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.15  After the completion of topic “Parallelograms™ in a mathematics class. a student says, A square is also a rectangle and
that a rectangle is also a special type of parallelogram™. The student is at which level of geometric reasoning according
to Van Hieles theory of geometrical development?

Options 1 T evel 1 (Analysis)
2. Level 4 (Axiomatics)
3. Level 0 (Visualization'Recognition)
4 Level 2 (Relationships)

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q16 (22 —g)(x-1)(x+1)
(x®—3x+2)(x+2)
Options 1, r—1

2. ¢ —2
C = |
4 =2

is equal to

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.17  Select from the following, a planet of solar system which has highly tilted rotational axis as a result of which in its
orbital motion appears to roll on its side

Options 1. Jranus
2. Mercury

3. Saturn
4. Neptune

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18  Which of the following statement (s) is/are individually true in respect of both magnetic lines of force and rays of light?

A. They are theoretical constructs.
B. They are visual representations that help in understanding physical phenomena.

Options | Oﬂl‘y B
2. Only A

3. Neither Anor B
4 A&LB

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.19  Match the following processes of crop cultivation in column A with the statement in column B

Column A Column B

(a) Harvesting (1) ‘Water falls drop by drop
directly near the roots

(b) Threshing (ii) Growing different crops
alternately

(c) Crop rotation (1if) Cutting jof crops after its
maturation

(d)Drip system (iv) = Grain seeds separated from
chaff

Options 1. (a) — (ii), (b) — (iw). () — (iii). (d) — (1)
2. (a) — (iii), (bY= (i), ()= (iv), (d)y = (1)
3. (a) — (iii), (b) — (iv). (¢) — (ii), (d) — (D)
4. (a) — (iv), (b) — (i), (¢) — (i), (d) — (i)

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q20 The sum of mean, median and mode of the data:
11, 14, 9, 30, 35, 17, 19, 28, 23, 48, 36, 30 is

Options 1. g} 5
2. 75
3. 76
4. 78.5

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21 1In AABC, the bisectors of £B and £C meet at a point P. If £ZBPC = 102°  then what is the measure of £A?
Options 1. 240
2. 289
3.:3724
4220

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.22 Aqueous solution of which one of the following oxides will turn blue litmus solution to red

Options 1 Sylphur dioxide
2. Copper oxide
3. Magnesium oxide

4. Calcium oxide

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q23 Which of the statement s false in the context of chromium planting?
Chromium is used for electroplating because

Options 1. Tt does not corrode

2. It is expensive to make the whole object out of it
3. It has a dull appearance

4. Tt resists scratches

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.24 e length. breadth and height of a cubeidal box are in the ratio 6 : 4 : 3 and its volume is 4608 e’ Tts lateral surface
area (in cmz) is

Options 1. | |14
2. 1152
3. 960
4. 1246

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q25 1fa=360andb =900, then (LCM ofa and b)+ (HCF of a and b) is equal to
Options 1. 10

2.

A W
=Ly M;

Lh

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q26 wfatch the items of column I with that of column IT

Column I Column IT
A. Algae I Chlamydomonas
B. Bacteria II. Amoeba
C. Fungi III Omicron
D. Protozoa IV.  Aspergillus

V. Lactobacillus
options 1. A _1, B 1T, CLTV. D 1T

2 A—-LB-V,C-IV,D-1II

3. A—IV,B W EL [ DY

4 A-LB-V,.C-IIILD-II

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.27  Which of the following is an example of teaching arithmetic using heuristics method according to National Curriculum
Framework (2005)?

Options 1.
Making students memorize multiplication tables for multiplying large numbers

2. Teaching the use of electronic calculator to students

3.
Finding the sum of three or more digit numbers by column method of addition

4.
Rounding off numbers to the nearest multiples of ten in order to add, subtract or multiply etc.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.28 IfF. Vand E represent the number of faces, number of vertices and the number of edges, respectively of a pyramid

whose base is a pentagon, then what is the value of (2V—3F+E) ?

Options 1. 5

2. 3
3.6
4. 4

Question Type : MCQ
Status : Answered
Chosen Option : 2

@29 1y A ABC and ADEF, if
AB = DE,AC = EF and'BC = DE,
then which of the following is correct?
Options 1. AABC = AEDF
2. AABC = AEFD
3. AABC = ADEF
4 AABC = AFDE

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q30 Match the items given in column A with that in column B

Column A Column B
{Deficiency of vitamin/mineral) (Deficiency disease/dizorder)

A. Vitamin — A (I) Goitre

B. Vitamin—B (II)  Anaemia

C. Vitamin — C (IIT) Scurvy

D. Iron (IV) Loss of vision
(V) Beri—Beri
(VI) Rickets

Options1. A TV, B—1,C—1II[,D—1II
2 A—TV,B=VI,C~V,D-1I
3. A- VLB~V C=T,D-1
4 AT B=VC=TI D-1I

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.31 A wire is in the shape of a circle of area 154 em?. If it is bent in the form of a square, then what is the area of the
square?

(Take T = %)
Options1. 121 Cﬂlz
2169 em?
3 144 cm?

4100 em?

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q32 ywhich of the following is NOT an example of proportionality?
Options 1.
A car covers 8km in 3 hours at a constant speed, it will cover 12 km in 4% hours.

2.

Ravi’s mother’s age is two times that of Ravi’s age at present, so when Ravi will be 30 years old, his mother will be 60
years old.

3. 4 candies cost Rs. 3, and so 10 candies cost Rs. 12.50
4.

The ratio of number of teachers to that of students in a school has to be 2:30. so for 300 students. there has to be 20
teachers.

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q33 Which of the following data sets cannot be represented using a pie chart?
Options 1.
Ratio of number of students belonging to different states in a classroom

2. Monthly expenditure of a family in various sectors

3.
Percentage of marks obtained by students in a class of ‘n’ number of students

4. Arecord of change in temperature in a day

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.34 1f a 6-digit number 43x82y is divisible by 72. then what is the value of (2x — y)?
Options 1. |y

2. 14

3.12

4.8

Question Type : MCQ
Status : Answered
Chosen Option : 2

@35 What is the constant term in the following product?

(2x2—3x—§) XG—;{)
Options 1. |2

2. g

3. 16

4 —12

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q36 One of the factors of 25(x +y)2 —36(x— 2y)? is
Options1. 1?_}1'—1

2. 11x+4 Ty

3. 1lx=—%

4 Tx+11y

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.37  The volume ofa right circular cylinder is 396 em? and its height is 14cm.What is its curved surface area (in cmz)‘? (Take
=)

7

Options 1 354
2. 279
3. 294
4. 242

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.38 The length of the diagonals of a thombus are 24cm and 70cm. What is the length of a side of the rhombus?
Options 1. 37 cm
2. 47 cm
3. 28 cm
4 35cm

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.39 (Consider the following statements about a rainbow
A Tt appears usually after the rains
B. At the time of rainbow the sun is high in the sky

C. To observe a rainbow the observer’s back should be towards the sun.
D. In the formation of a rainbow the water droplets in the atmosphere act as a prism.

The correct statements are

Options 1 B D
22 A,CandD
3. AAB.D
4 A.Band C

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.40  After giving a discount of 15% on the marked price of an article, a shopkeeper still gains 19%. By what percent is the
marked price above the cost price?

Options 1. 380,
2. 40%
3. 30%
4. 35%

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.41  Which of the following is NOT a desirable practice in the context of teaching & learning of science?

Options 1.
Free — play and open — investigations should be given due importance.

2.
Examples and insights from other subjects are liberally used wherever required.

3.

Focus should be on getting the right answers from students and not on their incorrect responses.

4. Local context should be used for enhancing conceptual clarity.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.42 The speed of sound in air is 320 m/s. If the wavelength of a sound wave is 640 cm, its time period is
Options 1. () 5 second
2. 5 second
3. 0.02 second

4. 2 second

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.43 ‘A burning candle gets put out after some time of being covered with a glass jar.” Which of the following inference can
be drawn from the above observation?
A. Alr is required for the burning of candle.
B. Oxygen is required for the burning of candles.

Options { Only B
2 BothA&B
3. Only A

4. Neither A nor B

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.44 A teacher along with her class VII students is trying to understand how plants grow. They planted a number of tomato
seeds at various depths and at various places in their school garden and took care of them. After some time, they
observed that a few seeds began to develop as plants while others died out. The teacher asked the students to use their
observations and think of the factors to due to which some seeds could not develop. Which process skill is likely to be
developed through this exercise?

Options 1 Measuring
2. Classifying
3. Hypothesising
4. Predicting

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q45  Consider the following statements
A. In photosynthesis solar energy in converted into chemical energy.
B. In photosynthesis CO, and water are used.

C. In photosynthesis CO; is released and O, is consumed.
D. In photosynthesis O, is released and CO; is consumed.

E. Photosvnthesis takes place both during day and night.
The correct statements are
Optionsq. A, Band D
2 B.CandD
3. ADandE
4 A,BandC

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q46 Consider the following characteristics of plants

A. Broad and flat leaves

B. Photosynthesis carried out by stems

C. Roots going very deep

D. Very little loss of water through transpiration
E. Cone shaped plants with sloping branches

The characteristics normally found in desert plants are
Options1. A, Cand D

2 B,C.Dand E

3. B.Cand D

4 AB.DandE

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.47 Which of the following strategies will NOT be helpful in bridging the rural — urban divide in Science Education?

Options - Basing rural school curriculum on relatively simpler concepts.
2.

Organising science camps and exhibitions at cluster and block level.
3. Reflecting rural life — styles in curriculum

4.
Dealing with issues like ‘food’ in the context of an agrarian economy.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.48  Ateacher is trying to introduce her class VII students to different kinds of soil. She begins by introducing the names of
three kinds of soil i.e. sandy soils, clayey soil and loamy soil. She explains the properties of each soil in term of its
particulate nature. She then demonstrates one sample of each kind of soil and shows the students the difference in
percolation rate of an examples. How would you evaluate this approach from an inquiry oriented perspective?

Options 1.
Demonstrating more soil samples would make the approach inquiry — oriented.

2. It is not an effective approach for encouraging inquiry.

3.
Asking questions in the end would make the approach inquiry — oriented.

4. It is an effective approach that encourage inquiry.

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q49 Match the items of column I with that of column IT

Column I Column IT
A. Penicillin L Robert Kotch
B. Small pox vaccine II. Gregor Mendel
C. Fermentation III.  Louis Pasteur

D. Bacillus Anthracis Alexander Fleming

Edward Jenner

<SS

Options1, A TV B-V.C-TIILLD-I
2 A-TIV.B-IILC-III.,D-1
3. AN B~V C=T1 =11
4 A—-IV.B-V,C-1I,D-I

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q:50  Which of the following sequence is correct for mathematical modelling?

Options 1.
Real life problem -- The mathematical model -- The mathematical solution -- The solution in real world

2.

The mathematical model -- Real life problem -- The solution in real world -- The mathematical solution

3.

The mathematical model -- Real life problem -- The mathematical solution -- The solution in real world

4.

The mathematical model -- Real life problem -- The mathematical solution -- The solution in real world

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.51 Consider the following statements.

A. The small intestine is highly coiled and shorter than the large intestine.
B. Small intestine receives secretions from the liver and the pancreas.

C. Liver is the largest gland in the body which secretes bile juice.

D. The pancreatic juice acts on fats and change them into simpler forms

The correct statements are
Options 1, Band C

2 Dand A
3. A, Band C

4 AandB

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.52 Suppose you are standing in front of plane mirror fixed on the wall of a gallery. You are at a distance of 3m and your
friend is at a distance of 4 m from the mirror. What is the distance between you and the image of your friends?

Options 1. 1 1;y
2 6m
3.8m

4 7m

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.53 According to National Curriculum Framework (2005), which of the following is LEAST effective to enhance
mathematics learning in the classroom?
(a) Connecting concepts to real-life situations
(b) Giving frequent tests
(¢) Using mathematical games and puzzles
(d) Creating competition amongst learners
Choose the correct option.

Options1. (a), (c) and (d)
2. (a)and (c)
3. Only (c)
4. (b) and (d)

Question Type : MCQ
Status : Answered
Chosen Option : 4

.54  The interior angle of a regular polygon exceeds its exterior angle by 108 ®. The number of sides of the polygon is
gular polygs gle by polyg

Options 1 g

2. 10
312
4. §

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.55 Abox certains cards on which numbers 31, 32, 33,.... ,69 and 70 are written (only one number on one card). A card is
drawn from the box without looking into the box. What is the probability that the number on the card drawn is NOT a
prime number?

Options ] 1
3

19
2. =
20
e
3. s
40
31
4.2

40

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.56  Which of the following should be the hall-marks of a science curriculum at upper primary stage as per NCF — 2005.

Options 1.
There should be a strict separation between academic and vocational streams.

2.
Science content should be regarded as a diluted version of a secondary stage science.

3.
Scientific concepts should be arrived at mainly from activities and experiments.

4.
Science should be introduced as separate disciplines like physics, chemistry and biology.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.

57 a5—3 242 e
Gl X)) =377
2 -3
(2) % ()
Options 1 24
212

316
4.9

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.58 Which of the following methods/approaches is NOT regarding mathematics teaching?
Options 1. Deguctive-Inductive
2. Problem solving
3. Analysis-Synthesis

4. Rote Memorization

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.59 You have made a pinhole camera and you obtain the image of a distance coloured building on its screen. The image
formed on the screen is always

Options ;- Real, inverted, coloured and highly diminished
2. Real, erect, coloured and highly diminished
3. Virtual, erect, coloured and diminished

4. Real, laterally inverted, coloured and diminished

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.60 V768x3267 i

The value of =
|Options 1 198

2. 134

3. 128

4. 132

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Comprehension:
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Qg ¢121 6RIRANE IF 2eBIal

SubQuestion No : 14
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4. 9F eRERGRg dd 2IF6IR I96R 2CaIde faIas!

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:
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PIFelg 6918 O FIGI 210
Qg ¢121 6RIRANE IF 2eBIal
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Options 1. 1
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Question Type : MCQ
Status : Answered
Chosen Option : 2




U gacrg 6a9f Saidiae S0 6FlOR 9RO ARY ARG ITAE GEE?

IOy Q0% AALED 96 AFE

PEEa 2910 816 2lleen QIoY 908
CIOYR BIGYa GerIPar

WISl 8 990 2erw 28 IR KA

iaall L

Options 1. 1
2.2
3.3
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Status : Answered
Chosen Option: 1

Q.22 gea Jaq obed crald 191 60 0R C06 @8R | SAFIRg 61T G FGIR FI0rd 926 BRIy @95 | dmlsse
TROT 6T YLYS FRISTER €9 ATISY APYER I9° 980 EACIRE AFIS FTIEER AARISR GI0Y 9UR9R SFTIg 9FEq |

Options 1. 1
2.2
3.3
4.4

99Iq 606 SIS QI gRITN
1. 9ReG @IGY
2. QTGS ( 2DIe e AL eIcld )
3. QRGS QITSR Y9I YUR ZERIST
4. QEULDAF WS Fl
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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2.2
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Question Type : MCQ
Status : Answered
Chosen Option: 2
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Chosen Option: 1
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

1. Maharana Pratap ruled over Mewar only for 25 years. However, he accemplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immertal personality. He along with his kingdem become a synenym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

2. There did come a few thorny occasions when the flag of the kingdom seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputaticn
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 1

21 Maharana Pratap became immortal because:

1) he ruled Mewar for 25 years
2) he added a lot of grandeur to Mewar
3) of his sacrifice and valour
4) both (i) and (iii)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

1

Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

There did come a few thorny occasions when the flag of the kingdem seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 2

Difficulties in the way of Mewar for achieving its

grandeur were

Q.2
Options 1. 1
2.2
3.3
4.4

1. lack of co-operation of the nobility
2. ancient traditions of the kingdom.
3. its small area and small population
4. the poverty of the subjecis

Question Type : MCQ

Status : Answered

Chosen Option: 3




Q.3
Options 1. 1
2.2
3.3
4.4

1

Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

There did come a few thorny occasions when the flag of the kingdem seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 3

During thorny occasions the flag of the kingdom
seemed sliding down — the expression means

1. the flag of Mewar was lowered.

2. the flag flew at half mast.

3. the multitudes of problems faced by people
frustrated them.

4. the glory of the kingdom seemed to be
decreasing.

Question Type : MCQ

Status : Answered

Chosen Option : 3




Q.4
Options 1. 1
2.2
3.3
4.4

1

Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

There did come a few thorny occasions when the flag of the kingdem seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 4

Choose the correct chronology of the kings of Mewar
as mentioned in the passage:

1. Bappa Rawal, Rana Kumbha, Rana Sanga,
Maharana Pratap.

2. Maharana Pratap, Rana Kumbha, Bappa Rawal,
Rana Sanga.

3. Rana Sanga, Rana Kumbha, Maharana Pratap,
Bappa Rawal.

4. Rana Kumbha, Bappa Rawal, Rana Sanga,
Maharana Pratap.

Question Type : MCQ

Status : Answered

Chosen Option : 4




Q.5
Options 1. 1
2.2
3.3
4.4

1

Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

There did come a few thorny occasions when the flag of the kingdem seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 5

The people of Mewar could live a peaceful and
prosperous life because.

all of its rulers were competent

most if its people were art lovers

most of its rulers were competent

only a few of its people were incompetent

it Lo

Question Type : MCQ

Status : Answered

Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

1. Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

2. There did ccme a few thorny occasions when the flag of the kingdom seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 6

26 The word ‘augmented’ as used in paral means the
same as
1. destroyed
2. increased
3. damaged
4. brought down
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

1. Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

2. There did ccme a few thorny occasions when the flag of the kingdom seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 7

27 The word ‘grandeur’ in para 1 is used as a/an
1. verb
2. adverb
3. adjective
4. noun
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the questions / complete the statements that follow
by choosing the most appropriate options out of the given ones:

1. Maharana Pratap ruled over Mewar only for 25 years. However, he accomplished so much
grandeur during his reign that his glory surpassed the boundaries of countries and time
turned him into an immortal personality. He along with his kingdom become a synonym for
valour, sacrifice and patriotism. Mewar had been a leading Rajput kingdom even before
Maharana Pratap occupied the throne. Kings of Mewar, with the cooperation of their nobles
and subjects, had established such traditions in the kingdom, as augmented their
magnificence despite the hurdles of having a smaller area under their command and less
population.

2. There did ccme a few thorny occasions when the flag of the kingdom seemed sliding
down. Their flag once again heaved high in the sky thanks to the gallantry and brilliance of the
people of Mewar. This glerious traditions of the kingdom almost continued for 500 years
since its establishment, right from the reign of Bappa Rawal. In fact only 60 years before
Maharana Pratap, Rana Sanga drove the kingdom to the pinnacle of fame. His reputation
went beyond Rajasthan and reached Delhi. Two generations before him, Rana Kumbha had
given a new stature of the kingdom through victories and development work.

3.The life of the people of Mewar must have been peaceful and prosperous during the long span
of time; otherwise such accomplishments would not have been possible. The ambience of
Mewar remains lovely thanks to the cheerful and liberal character of its people.

SubQuestion No : 8

28 |n para 1 ‘immortal’ means something which can't be
1. remembered
2. destroyed
3. forgiven
4. cultivated
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commean in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 9

29 The panther operates in the reverse gear means that :
1. it goes in search of its prey.
2. it waits for its prey to come to it.
3. hides in the trees
4. moves stealthily backwards
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commean in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 10

210 The Indian panther has to hunt its
prey

1. hide behind a tree

2. hide into a bush

3. wait till morning

4. hide near a water hole
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commen in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 11

Q11 The panther climbs a tree with berries as

1. animals come underneath to eat berries.
2. berries help it to hide effectively.

3. it loves the aroma of berries.

4. berries have big leaves around them.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commen in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 12

Q12 Study the following statements:
(a) Only sometimes does an animal come under a
tree on which a panther is hiding
(b)So many times the prey is very close yet the
panther can't kill it

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right.
4. Both (a) and (b) are wrong.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commean in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 13

213 Study the following statements:
(a) Indian panther prefers to hunt from the tree
(b) Most animals don't see any risk from the
treetops
(c) African panthers mostly use the cover of a
bush to hunt

1 (a)is right and (b) is wrong.
2 (b)is right and (a) is wrong.
3 Both (a) and (b) are right.

4 Both (b) and (c) are right.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commean in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 14

Q14 “where game animals congregate’
The underlined word does not mean the same as
following
1. gather.
2. rally.
3. muster.
4. separate.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions / complete the statements
that follow by choosing the most appropriate options out of the given ones:

Not unoften, therefore, the panther operated in the reverse gear. That is, instead of
stalking upto the animals it lets them come upto it. The modus operandi adopted
consists of quietly slinking at dusk into a bush somewhere in the middle of a vast
grazing ground where game animals congregate in the evenings and graze throughout
the night. In its hideout, the panther waits patiently in the fond hope of some unwary
animal passing within its striking distance. Once in a while, when its luck is in, it makes
a kill. But, unusually night after night it must watch scores of animals grazing all round,
so tantalisingly near yet so distressingly far.

Another artifice adopted by the panther consists in its climbing onto a tree with large
leafy crown and use it as its ambush. This arboreal position of the panther is more
commen in African veldts and savannahs, where good ground cover is more difficult to
come by than in the Indian jungles. Its high perch effectively insulates the panther
against the prying eyes of game so used to sensing danger around them that they
seldom look for it on the treetops. Seated high in the sky the panther pounces upon an
unsuspecting victim that may happen to pass underneath. Panthers sitting among leafy
branches high up in trees take little notice of passers-by. Their stance gives them the
feeling of being invisible. Often they will choose a tree with some sort of berries that
attract game animals underneath.

SubQuestion No : 15

‘they seldom look for it’
The underlined word is a/an

Q.15

1. Noun

2. Verb

3. Adjective
4. Adverb
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q16  Receptive vocabulary includes

1) words that we recognise when we hear or read themselves.
2) words that we use when we speak or write them.

3) words of which we know the meaning before we read a text.
4) words which are ambiguous.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.17 Alearneris able to read a text with limited understanding. She is able to read the text very well and do the
comprehension tasks with the support of her elder brother. This practice of learning —teaching

1. Coaching

2. Tutoring

3. Scaffolding

4. Input hypothesis

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.18 ‘Comprehensible input’ refers to

1) exposure of meaningful oral and written language slightly above the learners’ current level of mastery.
2) exposure of oral and written languages to the comprehensive level of learners.

3) exposure of spoken and written language to level below the learner’s comprehension.

4) exposure of language to the cognitive level of learners.

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 2
Q.19

Major aim of teaching-learning poetry is

enjoyment and appreciation

2. learning the art of writing poetry
3. language learning
4./ learning vocabulary and grammar
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q20 Basic Interpersonal Communicative Skills (BICS) refers to

1. language needed for conveying abstract ideas.

2. language needed for communication by young learner.
3. language needed for here-and-now communication.
4. communicative language teaching
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.21 I earners undergo the various stages of writing. What is this approach to writing known as?

1. Product approach
2. Process approach
3. Paragraph dictation
4. Personal writing

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.22 Alanguage teacher along with her social science colleague gives an assignment on ‘Cultural diversity of India’.
Learners are to consult social science books and other books and documents relating to History, Geography, Culture
and Politics to write a report and develop a poster on the theme. What would this process of language learning called?

1. Language in Social Science
2. Social Science assignmient
3. Language Across the Curriculurm
4. Language writing development
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3




Q.23 Ap 'authentic text’ is i
1. atext/ narrative written by textbook authors

2. an original of the text from context
3. acompletely modified and contrived text from the original writing

4. astory and pictures drawn by learners as part of their assignment
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q24 1 anguage assessment is oriented to

measure the achievement of learners.

2. find the place of the learners in their class.
3. measure their overall or summative achievement.
4. measure the language proficiency of learners.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q25 What does “multilingualism’ in school education mean?
1) learning of many languages.
2) using the languages of learners in teaching-learning.
3) language-in-education policy. '
4) teaching all languages of learner in school.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.26 A teacher of class IV brings lot of objects and materials to teach vocabulary and generate discussions for a speaking
activity. What are these materials in language teaching known as?

1) Toys

2) Teaching objects

3) Learning tools

4) Realia
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.27 While reading a text a learner get some prompts that supports the meaning-making process. What is this known as?
1. Skimming
2. Scanning
3. Semantic cues
4. Formulaic cues

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q28 (onstructivism as a learning theory believes that
children learn new knowledge through classroom teaching.

2. language is learnt through structured practice.
3. all learners learn in the same manner.
4. children learn by conneeting withitheir previous knowledge.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.29 A learner in the city of Srinagar opts Malayalam as her third language and is able to speak and read it within a year
through her classroom exposure and interactions. What is this known as?

1. Language learning
2. Language acquisition
3. Language addition
4. Subtractive bilingualism
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Find from the following the stages involved in the process approach to writing?
1) (i) Outlining, (ii) Writing first draft, (iii) Writing the final draft
2) (i) Gathering ideas, (ii) Editing, (iii) Drafting (iv) Writing the final draft
3) (i) Outlining, (ii) Drafting, (iii) Editing, (iv) Redrafting. (v) Final write-up
4) (1) Planning, (ii) Drafting, (iii) Redrafting, (iv) Editing (v) Writing the final write-up
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




